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A) Short Message  Service B) Short Message System
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16. 2, 5, 9, 14 =1����)�8
A) 20 B) 16 C) 18 D) 22

17. AZ, BY, CX, =1����8
A) DX B) DV C) DU D) DW

18. Choose the correct form of the verb
She ..... (go) to the temple daily

A) has gone B) is going C) went D) goes
19. Spot the sentence with errors.

A) They will either come today or on Monday
B) They will come either today or on Monday
C) They will come on Monday
D) None of the above

20. Choose the correct sentence out of the jumbled sentences.
A) for/I/been/novel/have/two months/studying/this
B) I/have/been/studying/this/novel/for/two months
C) have/novel/two months/for/studying/I/been/this
D) I/have/been/for/two months/studying/this/novel

21. Choose the appropriate prepositions.
She is looking __________ the computer.

A) with B) on C) at D) Under
22. Find out the exact meaning of the following word :

Deliberate :
A) Doing something consciously and intentionally
B) Doing nothing
C) Doing something unknowingly
D) None of the above

23. =���[�!��*�,�������*��� �,
	���
M��*,�-�
A) He has a big head in the village
B) He is a big head in the village
C) He is an important person in the village
D) There is a big head in his village

24. He ate quickly ��=���"��.�� 
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A) Uncle B) Relative
C) Maternal uncle D) Brother in law
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